Das Einsdurcheins mit 11 tben [1]

Zum grofien Einmaleins

Aufgabe 1

L= O 70O 6 O 4 O 5
) mMa1= O 1 O 4 O 8 () 2
3. 55 :11= () 3 O 2 8 ) 4
4. 4411 = () 10 8 O 4 1
5.33.m1= O O vV O 2 O 3
6. 88:m1= O 1 O 7 O 4 O 8
o85:11= O 7 O 3 O 5 O 2
Aufgabe 2

33:1=0 9 O 7 O 6 (O 3
2 66 :m= O 1O 10O 9 O 6
o mam= 0O 2 O 3 O 1 O 4
Lo 4411 = () 4 o9 ) 5 () 10
5 110:.11= () 8 () 10 F () 3
6. 22 :11= () 4 3 O 2 () 10
/oo10:11= (O 5 o1 o7 () 10
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Das Einsdurcheins mit 11 tben [1] | ANTWORTEN

Zum grofien Einmaleins

Aufgabe 1

=@ O 6 O 4 O 5
2 1M1= @ o 4 O 8 O 2
3. 5:11=-|@ 5| O 2 O 8 (O 4
4. 44 .11 = () 10 ) 8 O
5.033:11= 0O O 1 O ?2 '@ 3
6 88 :11= () 1 O * 0O 4 |@ 8
785 :11= () 1 o 3 El 2

Aufgabe 2

T33:m1=0O 9 O T O 6 |@ 3
2. 66 11 = () o 1’0 9 e ¢
3 M 1= 0 2 3 D 4
4. 44 11 = o9 5 () 10
50 110:11= () 8 m o7 3
6. 22 11 = () 4 o 3 E' () 10

7oo10:11= () S S o7
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